

$$\begin{aligned}
 1c) \int_0^{\infty} e^{-3x} dx &= \lim_{t \rightarrow \infty} \int_0^t e^{-3x} dx \\
 &= \lim_{t \rightarrow \infty} \left[-\frac{1}{3} e^{-3x} \right]_0^t \\
 &= \lim_{t \rightarrow \infty} -\frac{1}{3} [e^{-3t} - e^0] \\
 &= \lim_{t \rightarrow \infty} -\frac{1}{3} \left[\frac{1}{e^{3t}} - 1 \right] \\
 &= -\frac{1}{3} [0 - 1] \quad \text{since } \frac{1}{e^{3t}} \rightarrow 0 \\
 &= \frac{1}{3} \quad \text{as } t \rightarrow \infty
 \end{aligned}$$

$$\begin{aligned}
 2c) \int_0^{\infty} \frac{8x}{\sqrt{1+x^2}} dx &= \lim_{t \rightarrow \infty} \int_0^t \frac{8x}{\sqrt{1+x^2}} dx \\
 &\quad \text{Let } u = 1+x^2 \\
 &\quad \frac{du}{dx} = 2x \\
 &\quad du = 2x dx \\
 &= \lim_{t \rightarrow \infty} \int_1^{1+t^2} \frac{4}{u^{\frac{1}{2}}} du \\
 &= \lim_{t \rightarrow \infty} \int_1^{1+t^2} 4u^{-\frac{1}{2}} du \\
 &= \lim_{t \rightarrow \infty} \left[8u^{\frac{1}{2}} \right]_1^{1+t^2}
 \end{aligned}$$

$$= \lim_{t \rightarrow \infty} (8\sqrt{1+t^2} - 8)$$

$$\rightarrow \infty \text{ as } t \rightarrow \infty$$

$$\text{Since } \sqrt{1+t^2} \rightarrow \infty \text{ as } t \rightarrow \infty$$

\therefore integral diverges

$$3c) \int_0^{\ln 3} \frac{e^x}{\sqrt{e^x - 1}} dx = \lim_{t \rightarrow 0} \int_t^{\ln 3} \frac{e^x}{\sqrt{e^x - 1}} dx$$

$$\text{Let } u = e^x - 1$$

$$\frac{du}{dx} = e^x$$

$$du = e^x dx$$

$$= \lim_{t \rightarrow 0} \int_{e^t - 1}^2 \frac{1}{u^{1/2}} du$$

$$= \lim_{t \rightarrow 0} \left[2\sqrt{u} \right]_{e^t - 1}^2$$

$$\lim_{t \rightarrow 0} (2\sqrt{2} - 2\sqrt{e^t - 1})$$

$$= (2\sqrt{2} - 2\sqrt{1-1})$$

$$= 2\sqrt{2} - 0$$

$$= 2\sqrt{2}$$

$$4c) \int_0^{\pi} \tan x \, dx = \lim_{\epsilon_1 \rightarrow \frac{\pi}{2}} \int_0^{\epsilon_1} \tan x \, dx + \lim_{\epsilon_2 \rightarrow \frac{\pi}{2}} \int_{\epsilon_2}^{\pi} \tan x \, dx$$

Consider $\lim_{\epsilon_1 \rightarrow \frac{\pi}{2}} \int_0^{\epsilon_1} \tan x \, dx$

$$= \lim_{\epsilon_1 \rightarrow \frac{\pi}{2}} \left[-\ln |\cos x| \right]_0^{\epsilon_1}$$

$$= \lim_{\epsilon_1 \rightarrow \frac{\pi}{2}} \left(-\ln \cos \epsilon_1 - (-\ln \cos 0) \right)$$

+ 0

diverges since $-\ln \cos \epsilon_1 \rightarrow -\infty$ as $\epsilon_1 \rightarrow \frac{\pi}{2}$

Do Q1, Q2, Q3, Q4 parts a and b
